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General Instructions :

Read the following instructions carefully and follow them :

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements — Assertion (A) and Reason (R). Choose the
correct alternative given below : 1

Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.

Reason (R):  Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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2. “fear 9 S 2023 %, WA Wi TFEES (NSE) % il & AR, Th A8
i Iafy 914, 9 W3 2023 - 9 S 2023, H et FEAwa fHewmhl (FII) g
T 309 U I g forshl i T8 oft |”
ST TH-¢T WA % YA Hged @ ued | gqul R

JTa | (frp Tl = 3 & e ot fasheq &1 =@ hifse)
(A) =, 3fee (B) i@ﬁ hige
(C) =, shise (D) s, efere

3. TfaRea # & qg1 mqfd (M) &1 sraey fomivar/faemarsti i ug=e i :
(i) 39 §HF % T fog T HGT @ 2 |
(i) SUH HLhR o 9 W 7T ¥9-9SR ol TFferd T8l foham STrar g |
(iii) I§ T TUSE o hrgd Soh o I L& GgT Bl 7 |

oy -
A) () AR (i) (B) (i) 3R (i)
(C) e (i) (D) had (iii)
4.  HIE & FTIR =G &F g TR T A IUWT = El
T TS 7 | (Tk Tl sl WA & fow @) fashew &1 =@ <hifs)

(A) WA 99T, W™ s
(B) @I f4as, df@ 39em
() i@ Few, e ew
(D) & 39T, SR 39T

5. T 3ATehsl shl TgaH hileIT d Tgl faehed i =TI hITT

gH | TH | = (80%) STRIET 79I
(20%)
I 5000 4000 ().
I1 4000 (). 800
DA | (). (iv).. 5000

ICETE

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
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2. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a net selling off worth ¥ 309 crore by Foreign

Institutional Investors (FIIs) over the period of one month i.e.,
oth May, 2023 — 9th June, 2023.”

The above mentioned transactions will be recorded on _ side of
account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

(A)  Debit, Current (B) Credit, Capital
(C)  Credit, Current (D) Debit, Capital

3. Identify the incorrect feature(s) of money supply (M;) from the
following : 1
(1) It is measured at a point of time.

(ii) It does not include stock of money held by the government.
(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (i1) (B) (ii) and (iii)
(C) (i) only (D) (iii) only
4, Total consumption expenditure by households under Keynesian Economics
is a combination of __ and

(Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption

5. Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 .(1)..
II 4000 (). 800
Total .(iii).. .(1v).. 5000
Alternatives :

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
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6. JTAH Tqe (BOP) H 31 o1 aread i AT ¥ 7 |

(T=h o &l WA & foTe w8t faesrew 1 w9 Hife)
(A) A IIead W &R A
(B) TR WIftqdi T =Te] @Wral Y
(C) ISt @rar WA 9 YSf @ et
(D) T YAaH W &R Jiai

7.  TorHl wreufes s1gegaee & fou 79 «ifSe o
C =100 + 0-75Y (S&T C =399 9 Y = 31¥)

I = 400 (I, = @ faw)
73 ek (K) 1 94 g |
(Th o &t WA & fore o fashew &1 =3w Fifs)
A 5 (B) 4
C 6 (D) 3

8. UM Wifgu fh, T wcule AdTGwAT H HAUR Fgad T 500 HUS H
3R FqaH Uil 8 | OTa i @ Jod T 1200 HUS 9 Al ITaE
T 400 FS 7 |
ST (Merchandise) 3T3Td 3l Hod T HUS BT |
(Tep T =1 A & foe gt fashew 1 = 9w Fifs)

(A) 1700
(B) 750
(C) 700
(D) 900

9. TAfIRad oMl 1 SIMYdeh AT HIT

o 1 ;A foret srdfegawen #, 37 & =R # gfg (AY) Bt 7, @ T8 3UHM
% T (AC) H Hed AT &9 & Jhg L ¢ |

HY72 : HHG YU TG (MPC) d HI9d s=d T (MPS) Hed Th-gal
& S Bl & |

feu U SeAt & It 1, f=ffaa @ @ @& fasew &1 w=m Fifve

(A) I 19T 8 N HIT 2 7T 2 |

(B) e 13T g M FAH 2T 2 |

(C) HAT 1AM 2TM T 2 |

(D) $UF 13 2 THT 9 B |
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Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments

(D) Autonomous receipts over Autonomous payments

Suppose for a hypothetical economy :
C=100+0-75Y (where C = Consumption and Y = Income)
Iy =400 (I = Autonomous Investment)

Value of Investment Multiplier (K) would be
(Choose the correct alternative to ﬁll in the blank) 1

(A 5 (B) 4

(C) 6 (D) 3

Suppose, the Balance of Trade of an imaginary economy shows a
favourable balance of ¥ 500 crore. The values of merchandise exports are

T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1
(A) 1700
(B) 750
(C) 700
(D) 900
Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

11-58/1/2 P.T.O.



10. T=faRea # 9 98t e i vg=e i
(A) GDPyp = NNPpc+ To8H™
(B) NDPpg = NNPpc + g ST o
(C) GNPyp = GDPyp + T3l & UTed 3[g A1eA 1™

(D) NNPpc

NDPMP + W

11. (F) TUF hlcueh fegawen & fou g R wu arfeel & YR W, @eH
AT W 3G TRl 379G (NDPpe) o oI &1 STTHH TET

: , arr
> " (¢ g 9
(i) Heho TS Tl it i 300
(ii) BRI 70
(i) | offcw THRRI ITHM = 400
(iv) | womht St 1 3uum 50
(v) T Be] 3TH = 590
(vi) AR (Inventory) e (-) 60

(73)
(vii) CIDIG] 80
(viii) | J[g 3TTTET HL 50
(ix) faget & W 3G HH T 40
YT

(@) () 39IH 3CTEW ohl FEEAT § FRIATSTT hi SGUNN T FUH hHITIT, |
(ii) ST ATYRIY i gftwriva i |

12. for fafma o yoreft qon 9= fafma < yomeft < a9 Taw T hifve |
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10. Identify the correct equation from the following : 1
(A)  GDPyp = NNPpc + Depreciation
(B) NDPpc = NNPpc + Net Indirect Taxes
(C)  GNPyp = GDPyp + Net Factor Income from Abroad
(D) NNPpc = NDPyp + Depreciation

11. (a) On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items Amount
(in < crore)
(i) Gross Domestic Fixed Capital Formation 300
(i1) Exports 70
(iii) Government Final Consumption 400
Expenditure
(iv) Consumption of Fixed Capital 50
(v) Household Final Consumption Expenditure 590
(vi) Inventory Investment (Net) (=) 60
(vii) Imports 80
(viii) Net Indirect Taxes 50
(ix) Net Factor Income from Abroad 40
OR
(b) () Elaborate the concept of Externalities with the help of
suitable example. 2
(ii))  Define Operating Surplus. 1

12. Distinguish between fixed exchange rate system and flexible exchange
rate system. 3
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13. T 8 T3 2023 & T IHHITS TEF ¥ 3I¢Ygd MHGIRgd T &1 €AY

QWW:

“Grdta foid d (RBI) A1 o€ faufor gfufa 9 Tose w9 9 S=aeh o @@
6:5% T IqfEfdd W= 1 vl fo=m 2 | afafa 3 gurem At ifa
(Accommodating Monetary Policy) &l IIE A T &I hirgd B & AU

e frar g 1
few T 9 g wvE & emuR W fAmferfad g % s i

STIRh T H iU T ATfeh e <l UgEnT d ==l hifere |

()

(@)

14. ()

(@)

afe o fufwor afufs 3 3% @ d *f A Af, @ ger smgfd & Gwrfea
gftormt < ==t HifS |
ffcTiaga dTictent hl QU hHIMT | A 3 T 200 HUS &R T YA
Ho ol T i |
37 (Y) T SaT ITYIT &igra aaqd
(THISH) | (THISH) | ¥gfy (APC) Yg/e7 (MPS)
0 (=) 30 - -
100 | e 1|
200 | e 085 | e,
300 | e 08 | e
AT

“Topelt Srelezraen |, Yol w9y YA, TG a9u g A HA 7 |7

3CUTE, 3T 9 USTR o TR T 3Heh JUTE 6l ST iy |

15. fr=fafga Al s 39 denf gra JH1ivg <hifr .

(%) Torelt arefeuawen ®, o-cq weel sewN & forw, g fafma & mew’ &

w9 T HR il B |

(@) foreht srefeaawen B g deh, Sehi o S o €Y § I Ll 3 |
Page 10
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13. Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6:5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text. 2

(b)  Discuss the likely consequence on money supply if the rate setting

panel would have decreased the said rate. 2
14. (a) Complete the following table. Construct/Express the Consumption
function at ¥ 200 crore level of income. 4
Income (Y) Savings Average Propensity | Marginal Propensity
(in Tcrore) | (in Tcrore) | to Consume (APC) to Save (MPS)
0 (=) 30 — _
100 | ...l 1
200 | .l 08 |
300 | ...l 08 |
OR
(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”
Explain its impact on the level of output, income and employment. 4
15. Justify the following statements with valid arguments :
(a) Money serves as the ‘medium of exchange’ for transactional
purposes in an economy. 2
(b)  The Central Bank acts as Banker’s Bank in an economy. 2
11-58/1/2 Page 11 P.T.O.



16. (F) () - feu T = &1 emgds rera hifve o f=fafed W wei
9 H dedd a1 b fageyor ki

(I) N 3R gag Tttt 2
ID) e - IR 2
=4 S L (& o w%)
(®) () ToEE ER’ 9 ‘it =91 % " 3T Tase i | 2
CPE
(@) fmfaRaa =1 Toea wka ste@n gofima Tiftasi # affehd hifve | 3794
I o U H IY deh ST ;
(i) 3RO W 9TH &I | 2
(i) Torel Tt srat <1 fosht & fafaersr wnfeaat | 2
(iii) YRA § arfctept fream o McaTga & o e T Ts STHIER
(USA) ¥R grI &1 8 faefisr g | 2

e : /;H/r(:ﬂr@d Yo7 SHacl GIRETIAT GOl & 77 97 G871 16 & (i) & €7 T
/
TR a9 o FRRERU 1 6l S ST | 4
17. (%) T fo-8e Afed § 310 & <shiy YaT8 i STEURN 6 89 § sare
| 3
(@) “Hifgh "ol TS 3IAG (GDP) i T H drdicash dehal = 3cd1G
(GDP) Terelt Tsg <ht 3TTiefeh Hgfg 1 SgaX Hehash & |7
F7 A9 feU T HY ¥ A 7 2 fREHl A9 Feue gaTcHe 38
% 1Y AU I HI gfee Hife | 3
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16. (a) (1) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

(D Agriculture and Allied Activities 2
(I) Transport 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
(a) (i) Distinguish between ‘Revenue deficit’ and ‘Primary deficit’. 2

OR

(b)  Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i) Interest received on loan. 2
(ii) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting
girl education in India. 2

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 a(i).
Explain the stabilisation function of the Government Budget. 4

17. (a)  Discuss briefly the concept of circular flow of income in a two-sector
model. 3
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example. 3

11-58/1/2 Page 13 P.T.O.



18.

19.

20.

Qe @
AR STTiefeh Torehe

frfTfaa el 1 SAHYaesh T T

FY7 1 : UG T & Adid, nuie T (Y8 &d, 86 9 dr
a7Tfe) 1 foepra femam T e |

FHYT2 : URd H AU TEHT & fIohm@ & fie arEafaes 32w feifesr faat =i
gag T T |

feu U el % AT H, Hfaiad # 8 w@l ooy w1 =g i

(A) Y 1T 8 N I 2 370 2 |

(B) O 13T M FA 2T 2 |

(C) I 1A 2T 7T 8 |

(D) A 13N 2 gHT 3FET & |

qgaH hifteg fob Flcifgd § & siF-81 fasheq, Y fauom yoret & @
Teehi o I ol AT &

(A) IS, HSTUT, TEEHLIT, YehfonT

(B)  3cqTed, GaIoH, JEEeh, Ifen

(C) TIASH, TR, YehionT, TiEsd

(D)  THERT, Yehfort, Ufem, faawor

frefafaa wemt =t afgr - s1fimrem (A) 3 &wro (R) | = fou Tw faskedt

ﬁ‘v’lﬁﬁ%‘?ﬂﬁﬁ

37EHT (A) : Tava =UR e (WTO) | I8 3 i It 3 foh 98 g
TSI gRT OFTIT MU Tehal®T ql A9 Sfqadi & s=- & fou
o -smaTita sTaTiie saeen Tenfua &L |

HRU(R) :  THE &V ok HiY-E1Y, Tovd Icqed H glg w1 9 dfvesh
THTEHAT T 35 TN GHTad e e 7 |

ICETZ IR

(A)  3RHIT (A) 3R HROT (R) SHT TcF & 3 R (R), AMTHAT (A) Hi
TR ST 7 |

(B) 3T (A) 3T RUT (R) T T &, Afehd U1 (R), AMMhAT (A)
TE| AT 787 2 |

(C) 3P (A) TF =, Wohd R (R) AT 7 |

(D) AR (A) 3TEH 3, ok SR (R) T B |
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18.

19.

20.
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SECTION B
Indian Economic Development

Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A)  Assembling, Storage, Processing, Packaging

(B)  Production, Assembling, Processing, Grading

(C)  Assembling, Processing, Packaging, Transportation
(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R): It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.



21. fm=fafaa waat i ufen - srfiped (A) 3R o (R) | = feu e faspedi o

ﬁ‘v’lﬁ%l%qﬂﬁQ 1
SfYHYT (A) : T T S IRt o foau Afafcs g 9 o1fdes e
3T L % T SR A <1 39T 3T R |
FRU(R) :  ThR g HMINh YR AT o A7 4 9 d AW
forehTa Gehdehl H HehWIcHes qiony feu 8 |
IEETR IR
(A)  ANTHA (A) 3R HR (R) THI AT & 3R BRI (R), 3MUHAA (A) H
T ST 7 |
(B)  3Tf¥heM (A) 3R ST (R) SHT T B, Wfehd RUT (R), AMHH (A) I
HE SATEA TE7T 2 |

(C) IR (A) TF 7, Wohd ST (R) 79T 7 |
(D) 3 (A) IHF B, Afehd R (R) T 7 |

22, fHfaRad fashedt # 9, AFIHa HY I9R % @@ L@l &l 789 hiT ;1
(i) I HI I 3G T FaraH oI feaad & e fauom yormedt i
HIA F JHTST SHHT |
(i)  PuhI % 9T fouum g 9 § GUR i gdicdrad e |
(iii)  SpWehl T ITOT TehT |
(iv) SShI I ITeh! 39S hl TUETT d AT § IR i o [T galcarsd

ST |
%chrq :
(A) (1) 3R (i) (B) () A (i)
(C) (i) 3 (v) (D) (i) 3 (iv)
23. UNd 9 UIfh&d™ H SHA: | aul o arifeleh gER @
IEL RN
(Teh Tl 1 WA & T &t foeshed 1 =@ i) 1
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
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21. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below :

Assertion (A) : China has wused the market mechanism to create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

22. Identify from the following alternatives the imcorrect objectives of

regulated agriculture market :

(1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

(i1)) To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (i) and (i) (B) (1) and (iii)

(C)  (iii) and (iv) (D) (ii) and (iv)

23. Economic reforms were introduced in India and Pakistan in the years

and , respectively.

(A)
(€)
11-58/1/2

(Choose the correct alternative to fill in the blanks)
1988, 1978 (B) 1991, 1978
1991, 1988 (D) 1981, 1991
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24.

25.

26.

11-58/1/2 Page 19 P.T.O.

Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work wunder the prevailing
conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following is not a member nation of G20 :
(A) Brazil

(B) Australia

(C) Bangladesh

(D)  Argentina

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : The excessive regulation of permit license raj prevented
certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses
rather than on improving the product quality and
international competitiveness.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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(B)

(C)

(D)

(Teh T =1 9 o foie T&l faehew 1 === hifv) 1
faesft =ammR

28. “9na #, Ted foran Hifa 2020 # ferehi % AamEwRdy Afttaw W srcafs T

fear g \”

()  3TE HH H 3T Aa gt FEir (HCF) & dia sl 98 i | 1

(i) WA o 3 fIehmd W 36 G o FWITad JwTal i o § s
HIT | 2

29. (%) 37 ®RUN o IR & ade e wru B g o Nwifies ifa

(@)

11-58/1/2

Gehed, 1956 o dgd faf-afaa fopam mam o | 3

AAAT

“STtafrafires w1 o H N & | frar (TiagHar) et T8 off 17
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27. In the decade of the 1970s, Pakistan nationalized its industries.

(Choose the correct alternative to fill in the blank) 1
(A)  Medical infrastructure
(B) Consumer goods
(C)  Capital goods

(D)  Foreign trade

28. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1) Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement. 1

(ii))  Elaborate the likely impacts of this source on the economic

development of India. 2

29. (a) Elaborate the reasons owing to which the private sector was

regulated under the Industrial Policy Resolution, 1956. 3
OR

(b)  “During the colonial period the agricultural sector showed massive

stagnation.”

Do you agree with the given statement ? Justify your answer with

valid arguments. 3
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(i1)

(1)
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-G FISHT 9 s Hgw@ Ul el 31T 7 |

gfteh — SEE AU fhet e § TR Y feafa @ fagetyo
U b ToTu 39T fopam ST STelT Weh Hohash @ |

AASAT
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Hifer |

R-HY sEER T § fafaefientor miafafe™t o fohmal al 3arLol
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30. (a)

(b)

31. (a)

(b)

11-58/1/2

“United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most
populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s. 2

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China. 2

State and elaborate whether the following statements are ¢rue or

false, with valid arguments :

(i) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources. 2

(i1))  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation. 2
OR
(i) Elaborate the need to promote women’s education in India. 3

(ii))  Mention any two examples of diversification activities in the

non-agro processing industries. 1
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32. (a) State any two advantages of micro-credit system of financing in

rural areas of India. 1
(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”
Justify the given statement. 3
33. (a) “Under the liberalisation measures taken by the Government

of India, financial sector reforms were extremely crucial.”

Reject or support the given statement with valid arguments. 3

(ii))  Clarify, how the Green Revolution enabled the government to
procure sufficient food grains to build stocks to be used during
the times of food shortages. 3

OR
(b) (1) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies. 4

(i1))  State the importance of “Growth with equity” as the objective
of Indian economic planning. 2

34. Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.
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These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.

They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting
and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established.

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB).

(c)  Elaborate any two strategies to ensure sustainable development as
adopted by India.
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